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1. 1857 =1 33 ASHaS HROT Bt
() TEE F gEHUd e daoedT wegden 39T
(2) & T Gewr S
(3) faved givER &
(4) ESAT, Ja4 ST U T SOl
The immediate cause of the Revolt of 1857 was
(1) Use of cartridges greased with cow fat and pig fat
(2) Annexation of several states
(3) The spread of Christianity

(4) Abolition of titles, vatans and pensions

2. TETlE e RO ARGE TR SEEd @O g 2

(1) e AR (2) =HYEER S

(3) W Ul Tgw (4) A T

Who, from the following, was inspired to found the Indian National Congress ?
(1) Dadabhai Naoroji (2) Vyomeshchandra Banerjee

(3) Sir A.O. Hume (4) Lokmanya Tilak

3. YO AY “ad Aigen WA’ AT 7 HA 2

1) wfedeE g (2) dfear wEE

(8) ST & (4) 37ITS 9

Who founded “Arya Mahila Samaj” in Pune ?

(1) Savitribai Phule (2) Pandita Ramabai
(3) Iravati Karve (4) Anutai Wagh

4. FOTEN YA 1947 7 “feFq TR 2T YA FOAW WO O S ?
1 dfsd Hew (2) . W W
(3) WER wed (4) TAFRIETS Ha

Who was the source of inspiration to found the “Indian National Trade Union
Congress” in 1947 7

(1) Pandit Nehru (2) Dr. Rajendra Prasad
(3) Sardar Patel {(4) Gulzarilal Nanda
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5. “faerde srE SR’ T wiver @b e ?
(1) 1957 (2) 1958 (3) 1956 (4) 1959
In which year was the “University Grants Commission” established ?
(1) 1957 (2) 1958 (3) 1956 (4) 1959
6. ‘“TEEE wR § WRwE 3% e fae @ deen @l w2
(1) fag. gEER et sHa B
(2) ST WThHT ST SRR Ahe
(3) oFd FIEL I ASFWT et
(4) THE T AT ABFHT AT
Who established the “Society for the Protection of Hindu Legion” ?
(1)  V.D. Savarkar and Anant Kanhere
(2) Vasudeo Chafekar and Damodar Chafekar
(3) Anant Kanhere and Balkrishna Chafekar
(4) Damodar Chafekar and Balkrishna Chafekar
7. “gUE’ ¥ g999 & gE Fd ? |
(1) <. JEeRT sTEeE (2) T T SR
(3) WA fTww (4) faoRmEl faugrmE
Who started the newspaper “Sudharak” ?
(1) Dr. Babasaheb Ambedkar (2) Gopal Ganesh Agarkar
(3) Lokmanya Tilak (4) Vishnushastri Chiplunkar
8. ‘UHE w¥ wW’ a1 WA W Sivf ded 2

(1) W e Gt (2) U FIERE SR

(3) & eI (4) TEET YT AEEH

“Manav Dharma Sabha” institution was established by

(1) Mahatma Jyotiba Phule (2) Ganesh Vasudeo Joshi

(3) Baba Padmanji (4) Dadoba Pandurang Tarkhadkar
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9. U9 1927 =7 a8l HEIE At FAEN TBEER RV THUE hell 7

(1) T T (2) IR I

3) =LE. "EE (4) BT AR AETH
Who launched Satyagraha of the ‘Cavdar Tale’ at Mahad in 1927 ?
(1) Mahatma Gandhi (2) V.R. Shinde

(3) V.D. Savarkar (4) Dr. B.R. Ambedkar

10. “HOS WRE § WiEE @ g o ?

(1) T % (2) HE G

(3) B. Y TWRN (4) 92 FvE FH

Who started the periodical “Samaj Swasthya” ?

(1) R.D. Karve (2) Mahatma Phule

(3) Chha. Shahu Maharaj (4) Dhondo Keshav Karve
11. ‘fevre w8y fovme e il et

(1) foga e i (2) . TEERE AT

(3) wedf diel %y & (4) RN SAfar ol

‘Depressed Classes Mission’ was founded by

(1) Vitthal Ramaji Shinde (2) Dr. Babasaheb Ambedkar

(3} Maharshi Dhondo Keshav Karve  (4) Mahatma Jyotiba Phule

12. R G I g2 HiTEer TS WEA 3T U T e g,
(1) == fawo

(2) Hiwd ST Wb e fergor

(3) e foem

(4) I T

Mahatma Phule recommended to the Hunter Commission that State should give the
priority to .

(1) Higher Educatio

(2) Free and Compulsory Primary Education

(3) Adult Education

{4) Female Education
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13. ST THIY YR ST HHF T,

(1) r=er (2) wgrar (3) HIdar (4) 3@

India has rank in the world as per the area.

(1) Fifth (2) Sixth (3) Seventh (4) Eighth
14. TE0E geH TS RUH HSEe .

(1) S FHoErE (2) FaRgs

(3) e (4) 3T

Mountain soil is known as

(1) Black cotton soil (2) Unmatured soil

(3) Peat soil ) (4) Alkali soil
15. FERPH &% wafq fiar frer 3T,

n (2) STEHSTH (3) AL (4) T

district of Maharashtra is largest according to the area.

(1) Pune (2) Ahmednagar (3) Nagpur (4) Yavatmal
16, HeEH TH Yhed foega awcen IR,

(1) TR (2) ¥WEW (3) ImEdt (4) FFaWS

‘Project Tiger’ at Melghat is located in district.

(1) Gadchiroli (2) Bhandara (3) Amravati {4) Yavatmal
17. HA AHE MGSAH FHAO G AR S ?

(1) ¥ (2) | (3) @ (4) ot

Which wood is mostly utilized for furniture ?

(1) Sandal (2) Teak (3) Banyan (4) Mango
18. a7 faamoft e T Fm A€W AT fiesd.

(1) W& (2) HEE

(3) TS (4) ST

The river Koyna joins the river Krishna at _

(1) Satara ' (2) Kolhapur

(3) Karad (4) Mahabaleshwar
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WAATS FIUTH Fad ARG WawH wqe 9EdE 9ee At ?
(1) & Fuw g (2) fed R TEE
(3) TA. TITCRATHl 3T (4) i dudt. gar

Which among the following persons was not a member of the Drafting Committee of
the Indian Constitution ?

(1) Dr. KM. Munshi (2) Pandit Jawaharlal Nehru
(3} N. Gopalaswami Ayyangar {(4) Mr. D.P. Khaitan

(1) 1946 =1 Feoe fem Aemd

(2) 1947 =1 IRAE WA= FEEREY

(3) T WERAT AR

(4) YA TP Y T

The Constitution of India was enacted by a Constituent Assembly set up
(1) under the Cabinet Mission Plan, 1946

(2) under the Indian Independence Act, 1947

(3) under the resolution of the Provisional Government

(4} by the Indian National Congress

21.

22.

Ya¢ 3o EREH =E @eie $3 eRa 2
(1) s, @R 9 3w (2) O, A § e
(3) AR, FNTENE F qUrel (4) 7, g% T FEq

Where are the Judicial benches of Mumbai High Court situated ?
(1) Beed, Kolhapur and Akola (2} Pune, Nashik and Amaravati

(3) Nagpur, Aurangabad and Panaji (4) Nanded, Dhule and Chandrapur

mEEIETeT faum afyeel Wer WAl (strength) fbel eT@ 2

(1) 72 (2) 36 (3) 90 (4) 78
How much is the strength of the Legislative Council of Maharashtra ?
1y 72 (2) 36 (3) 90 (4) 78

HTAT BT 5T / SPACE FOR ROUGH WORK

P.T.O.


Admin
Line

Admin
Line

Admin
Line

Admin
Line


KNM

23.

e aeiEn faa) &

I 9 TSHEEATER ARAAT UPOdiAT HAHeeel HoediqeRy SRUN &adl o,
I Ugudl N eIl [FEER wUIWE] (R AAWserhe  Wieg Ve W
() 19 I -8 TR 3T (2) T&eR 9 II 9% 31

3) I TR 3 I & 3R (4) 19 I & 9% R

Consider the following :

1. The President according to Indian Constitution shall act in accordance with the
advice given by the Council of Ministers.

II.  The President may require the Council of Ministers to reconsider such advice,
but that advice is not binding on the President.

(1) T and IT both are correct (2) T is correct and II is incorrect

(3) IIis correct and I is incorrect {4) I and II both are incorrect

24, TEAPTSA! fouufRd wear R avwe eRd 7
(1) 19 (2) 48
3) 78 (4) A B T
How many members are there in Maharashtra Vidhan Parishad at present ?
(1) 19 {2) 48
(3) 78 (4) None of these
25. dure Sfaden werHeE SE T 9fE ©UE ST S e ?
(1) fo=r sAfaed (2) THHEH
(3) @Il (4) T fomm sfuEd
Who works as a Chief Administrative Officer and Secretary of the Panchayat Samiti ?
(1) Extension Officer (2) Gramsevak
(3) Sabhapati (4) Block Development Officer
26. HENEMG HeFRUTeeeal qeIiial HIaayl Eieieds S ?

(1) TH as (2) TS o (3) = F¥ (4) WrEHA a¥
Which one of the following durations is the tenure of the Mayor of Municipal
Corporation in Maharashtra ? ‘
(1) 1 year (2) 25 years (3) 5 years (4) 3-5 years

Tl HEMIS! FI / SPACE FOR ROUGH WORK


Admin
Line

Admin
Line

Admin
Line

Admin
Line


27.

9 KNM

U Al UTdeiat TRTHET Aged RV Fal ?

(1) e fawa sty (2) YumEd Gftd e

(3) YeurEd WfHdT ST-|wde (4) T

Who performs the administrative leadership at Panchayat Samiti level ?

(1) Block Development Officer (2) President of Panchayat Samiti
(3) Vice-President of Panchayat Samiti (4) District Collector

28.

RN U fafta auta amasean et dod 90 duans 3R 2
(1) 4 (2) 5 3) 6 4y 2

Minimum how many meetings of Gram Sabha must be held in a Financial Year in
Maharashtra ?

1 4 2) 5 ®) 6 4) 2

29,

TP fSeg Rede wfea @ s ?

(1) Fiegr ofey g&7 wded Al

2) e e Sue FR@ st

(3) WS FHHM W™ T FEGR!

(4) Reefuerd

Who is the Secretary of Zilla Parishad in Maharashtra ?
(1) Chief Executive Officer of Zilla Parishad

{(2) Deputy Chief Executive Officer of Zilla Parishad

(3) Chief Executive Engineer of PWD
(4) District Collector

30.

reies Fo fFue amEe @ g el ?

(1) ORI e Me A0 T 9e ST,

(2) THEHAT IIHY AR TG R

(3) WY Uity TG STeaered™ qufar.

(4) TE T ITGRUGAT UG AW WA WAENY SRR qufadm.

Which of the following sentences is not applicable to Gram Sabha ?

(1} Gram Sabha is constituted of all adult members of the village.

(2) Sarpanch chairs the meeting of the Gram Sabha.

(3) In the absence of Sarpanch, Deputy Sarpanch chairs the meeting of the Gram
Sabha.

(4) In the absence of both Sarpanch and Deputy Sarpanch, the Gram Sabha
meeting is chaired by the Gram Sevak.
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31.

10 A
@i v feer wedemar SR o ?
(1) wed (2) ZFAeEE
(3) WEET [W T @ HIUTCR ATE!
Which one of the following lamps has maximum efficiency ?
(1) Bulb (2) Tubelight
(3) Sodium Vapour Lamp (4) None of these

32.

% fardieTsae 3Fqa 997 feqd), 99 SR B

(1) gFuA (2) arElg STqEEd

(3) varmE fafem (4) SR STTEHIOT

When the Moon is near the horizon, it appears big, This is due to
(1) Optical illusion (2) Atmospheric refraction
(3) Scattering of light (4) Dispersion of light

33.

WA Wigde W Ad

(1) Wfean TEFEEEAT (2) wifsaq FEAE

(3) Sy FEfAe (4) FAET FENES
Baking Soda is known as

(1) Sodium bicarbonate (2) Sodium carbonate
(3) Calcium carbonate (4) Calcium chloride

34.

ufgel ST Hid BN YRARTe FIe WEA AR ¥ feaes e ?

(1) 9 I (2) g I

(3) & IE (4) TEF B A

One of the earliest industries which in the first industrial revolution relocated from
India to Great Britain is

(1) Textile (2) Metallurgical

(3) Shipping (4) None of these

35.

WG WHRA TR 1999 W T S A R ITAA - Iaeifae 2
(1) TEREA aRTE 2) fawelt famm e
(3) @At ITAA Herdl foRE (4) fame g fammmEE

For what purpose did the Indian Government introduce in April 1999 the ‘Open
Sky Policy’ ?
(1} Cargo transport (2) Bilateral Air Service

(3) Aircraft development (4) Development of air-worthiness
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36. I W QEfavarEEt arorn s fsfaet 7 wvren uerafe stfras fawrem e
ST ?
(1) JHem2B  (2) TFFemzs (3) dramm2s2 (4) w28
To solve the problem of electricity, nuclear process occurs in nuclear power reactor by
fission of which material ?
(1) U235 (2) U238 (3) Th232 (4) Ra226
37. e &
a. 393 1. U A9
b. YR ST i, S9 dEeE
c. SR SAEEE iii. U
d. Eefaq 9o faa & iv. TURT dEE
(1) a-iv, b-iii, e¢-ii, d-i (2) a-ii, b-iv, ¢4, d-ii
(3) a-i, b-iv, c-iii, d-ii (4) a-ii, b-i, c-iv, d-iii
Match the pairs :
a. E-mail i Materials Technology
b.  Virtual classroom ii.  Biotechnology
¢.  Genetic Engineering iii. Computer Technology
d. ATM iv. Communication Technology
(1) a-iv, b-iii, c-ii, d-i (2) a-iil, b-iv, ¢, d-ii
(3) a-i, b-iv, c-iii, d-it (4) a-ii, b-, c-iv, d-iii
38. YN TS TR T
(1) ot SO 3 YER g (2) YHIE TEdH
(3) VHET™ U (4) YR faeda
Mirage is formed due to .
(1) Terrestrial heating and refraction of light (2) Reflection of light
(3) Refraction of light (4) Diffraction of light
39. aMyfra e faww @ feadfcaw @cie MER aEde 3R

(1 fofqy sarda dwem

(2) TEHE &AW denes

(3) wfed I

@) IH BORE T

Modern technological development is increasingly becoming dependent on
{1) Research inputs from large number of disciplines

(2) Research inputs from single discipline

(3) Ancient knowledge

(4) None of these
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40. WG ¥ F WG AAWHA 0 FH Avamsir
(1) gee IS
(2) WP TS g dias o
(3) AT TST=AT geryd W g
(4) TH FOE TR
The gap between developed countries and India is reduced by
(1) Unskilled manpower
(2) Tremendous manpower and institutional resources
(3) Poor infrastructure
(4) None of these
41, @ fAdeia TEvare SHUTER APReE TEAE gear, v feee T g fed
g ?
(1) 110dB (2) 85dB (3) 95dB (4) 100 dB
From the following, state the value of loudness, where a person can tolerate the
exposure without any damage to hearing.
(1) 110 dB (2) 85dB (3) 95dB (4) 100 dB
42, &-frm S sETG YRR YSTMS F1E 9fomg @ ?
(1) T F (2) ICA HAT FH B
(3) ik ThHEE B (4) WA gEed A
Out of the following, which is the effect of a lethal dose exposure of X-rays to the
body ?
(1) Anaemia {(2) Reduced fertility
(3) Internal haemorrhage (4) Mental retardation
43. uen wewide Hiw faym e gt ?

(1) 9] gaes SIH.
(2) T YSHPT TR ST

(3) g ST § TR .

4) Y fEd-deeE @Rl YaRa g,

Which statement regarding metals is not correct 7
(1) Metals are good conductors.

{2) Metals have shining surface.

(3) Metals are malleable and ductile.

(4) Metals transmit electromagnetic waves.
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44, TAAIH HOET qAGHS JER T ITR IR 2

(1) 3z (2) W@y (3) wErRA A (4) @

Earth is warm due to the presence of the following.

(1) Ozone (2) Oxygen (3) Carbon dioxide (4) Air
45. AT T FOIR ST FHT B

(1) yete F9fiE yguoT Tivor e FH AR

(2) g Jufie gguvT INel eENe ST 3TR

(3) e Gl ygNUT YINUT & S AR

(4) AR UG AT

We are polluting the environment at a rate

(1) less than the Earth’s natural ability to absorb pollution

(2) greater than the Earth’s natural ability to absorb pollution

(3) equal to the Earth’s natural ability to absorb pollution

(4) None of these
46. T favrmdte faardf SUSTR ®UEERE §8 GReT WSt

(1) it e SvgEEd o IS

(2) dif3 fmror w0

(3) USH d ggeeR frE©r woy

(4) AT PIUTE

Students from rural areas are unable to secure employment because

(1) of lack of awareness towards technical education

(2) they get technical education

(3) they attend graduation and post-graduation courses

(4) None of these
47. oot arecdt Arwl gof FvamEta fen M s FRM Geiddst #E dER sty

forendia el ?

(1) TE Tese e

(2) TEaa Rue

(3) e TERM T 4 Ferd wRe Fel fuEes
4) oM T faet

Which of the following has been developed and designed by ‘Indira Gandhi Centre for
Atomic Research (IGCARY to meet the growing demand for electricity ?

(1) Pressurised heavy water reactor

(2) Heavy water reactor

(3) Liquid sodium cooled fast breeder reactor

(4) Thorium based reactor
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48. IfE ‘G T TS T2 JUEu w1932 Wil SR Sfgen FHm @GR
el e ?
(1) fIemi= (2) = W
(3) gl T (4) FHAFTEHART
With modern ‘Engineering and Technology’, which is the first synthetic rubber
synthesized in U.S.A. in 1932 ? !
(1) Neoprene (2) Buna rubber
(3) Gutta percha (4) Caoutchouc
49, FAE FOG FTEY FT T qUT WS IR 2
(1) feq (2) FEEE
(3) T Fd 4) T A
Which allotrope of carbon is used for cutting and drilling ?
(1) Diamond (2} Graphite
(3) Activated carbon (4) Carbon black
50. WEEds! HORAT VMR AR ITH g7 ?
(1) &R (2 fawm s
(3) fegam (4) FFER-
Vaccination is available against all of the following diseases except
(1) Tuberculosis (2) Typhoid fever
(3) Malaria (4) Hepatitis-B
51. CTHN TgAEl YR HVET IR ?
(1, 2 (2) 16 (3) 10 {4) 8
What is the base of decimal system ?
(1) 2 (2) 16 (3) 10 4) 8
52. TEAEICY TANIEeAT weT R FM A i S Heam ver A emge fref|

HTAT A
(1) e (2) SUfHT TR SFEARH
(3) wiawer famfor o (4) 3 a0

Surgeons perform delicate operations by manipulating devices through computers
instead of manualily. This technology is known as

(1) Robotics (2) Computer forensics

(3) Simulation (4) Forecasting
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53. wmeAT faeEr yHIOT S AR ?
(L Tl (2) Ve
(3) i fawm (4) VR famm
What is the measure of progress of a country ?
(1_) Urbanization (2) Educational development
(3 Industrial development (4) Employment development
54, Ticge of7 Y& g9 @ 49U IWTG IV HIURT TWEA AAEOTGS A AT
AR SRR 3R 2
(1) fralq (2) BEGITAIHEA
(3) FATFIHEA (4) TR SHHEES (SO,)
Which chemical used in refrigeration and air-conditioning system is responsible for
destruction of ozone layer in the atmosphere ?
(1) Freon (2) Hydrofluorocarbon
(3) Chlorofiuorocarbon (4) Sulphur dioxide (SO,)
55, ‘fagwar & TFRW HUT T AR ST A4 ?
(1) foepdt fom (2) sfatiter fi
(3) dfgrite fim (4) Tefs fim
Which one of the following lenses should be used to correct the defect of
‘astigmatism’ ?
(1) _ Cvlindrical lens (2) Concave lens
(3) Convex lens (4) Bifocal lens
56, e WEITE FEA ¥ ST FHIURA Tgdd AT AT ?
(1) 2Zeget (2)  TFEFT
(3) SRy (4) ZrEEEet
In the structure of diamond, carbon atoms are arranged
(1) Tetrahedrally (2) Hexagonally
(3) Octahedrally (4) Trigonally
57. WU & U9 Th 3THG eSS FUEE TN W e v ?
1 (T (2) (s (3) (= 4 (Tah

A person having which of the following blood groups can receive blood of any
group ?

(1 (A (2) B 3 O (4) (AB)"
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58. W (LASER) o1 ¥isg e w9 §im 2
(1) wEe Sffadihym o 3feH oife esem
(2) oEe ufadisey o ferads sfie o esivA
(3) AEHE®m Sfowieyy o ferpes M 3w Wedvw
(4) TR IYm am WeAT
What is meant by LASER ?
(1) Light amplification by emission of radiation
(2) Light amplification by stimulated emission of radiation
(3) Microwave amplification by stimulated emission of radiation
(4) Light emission by radiation

59. GEie! HOME ITSENEA RUEA e o, T I S W% w2

(1) Wemafes (2) At

(3) TR (4) FramafE

Vitamin B,, can be produced as a by-product of which cne of the following ?
(1) Streptomycin (2) Tetramycin

(3} Trichomycin {4) Neomycin

60, WSl HIUA ITFWT TER FHA FFAE @R FE Bl 7
(1) SRS Afcret (2) TEHER

~

(3) TR TEE (4) TAZE.

Which one of the following common devices works on the basis of the principle of
mutual induction ? :

{1) Tubelight (2) _Transformer

(3) Photo diode (4) LED

61. FEHEAl AR

(1) A9 ared
2y fraia amd
(3) ST Aed
4) o ApmEE favard e

Due to devaluation of currency

(1) Import increases
(2) Export increases
(3) Unemployment increases

(4) Good relationship between two nations develops
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62. WAl SRR Hdd Sfdhal ST FRUT U

1 R ae (2) ITEEE 9@

(3) AT " (4) foafdfien smerdidte =

India’s Balance of Trade is not favourable because of

(1) Increase in export (2} Increase in import

(3) Decrease in import (4) More increase in import than export
63. vy sl wRare Al st S A ?

(1) 1972-73 (2) 1973-T74 (3) 1969 -70 (4) 197071

In which year was India’s export greater than import ?

(1) 1972-73 (2) 1973-74 (3) 1969 --70 (4) 1970-71
64. ITE-fEd TE-gE AT HvTET dHEiE Fed g g ?

(1) aredt (2) food

(3) W (4) IH FIUE AE

In which Five Year Plan was import-export pass-book system introduced ?

(1) Fifth (2) Third

(3) Seventh (4) None of these
65. 2001 — 02 I FAGHT A WAPT IR ST Terar feem gaifes o ) ?

(1) Wifeen frafas T ¥9eA (OPEC)

2) i TEEm 3 faFM ¥9ed (OECD)

(3 & Ty

(4) fowweia

Which group had largest share of India’s foreign trade during 2001 — 02 ?

(1) OPEC

(2) OECD

(3) Eastern Europe .

(4) Developing countries
66,

SR SR G [eerd Ereieist #Id 38 ?
(1) 9w ) fe=n (3) = (4) & focoit
Where is the Head Office of the World Trade Organisation (WTO) out of the options

given below ?
(1) Paris {2) Geneva {(3) New York {(4) New Delln
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67. WEeds HUK ANl e FH 77T ?
(1) 3 fawro (2) Ft <@
(3) AN TR (49) wa fagEo
Which one of the following is not a function of Commercial Banks ?
(1) Accept deposit (2) Lending loans
(3) Transfer of money (4) Credit control
68. f3 w2 4% 3% 3fear @efe a¥f ewdidara aef,
(1) 1935 (2) 1949 (3) 1955 (4) 1969
The State Bank of India came into existence in the following year.
(1) 1935 (2) 1949 (3) 1955 (4) 1969
69. TG IO AT H& VT Thell HUNHET GEMET BN IETEF SR ?
(1) T wAH (2) 394137349137
3) f& e o% 3 $=m (4) wIRaE A%
Who gives permission to banks for the foreign currency business ?
(1) Finance Ministry (2) I1CIC.IL
(3) Reserve Bank of India {4) World Bank
70. 1951 — 52 W THVT UMY FSEEA HEACHE WA WA ST g
(1) 19% 2y 7% (3) 12% 4) 31%
Institutional sources accounted for the following share in the total rural credit in
the year 1951 — 52.
(1) 19% 2y 7% 3) 12% 4y 31%
71, FOR TR WO g AR R A e e B & E 7

(1) e 2) T ¥% 3w dfem
(3) W ¥ 3w e (4) ale ¥d

Which of the following institutions acts as top level for fulfilment of financial needs
in rural areas ?

(1, NABARD (2) Reserve Bank of India
(8) State Bank of India (4) All of the above
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72. R gl S ‘ool @ A @reie aif gE el
(1) 1991 (2) 1969 (3) 1949 (4) 1959
The Reserve Bank of India introduced the ‘Lead Bank Scheme’ in the following year.
(1) 1991 - (2) 1969 (3) 1949 (4) 1959
73. WIAAIH HTE WHH A s AW fra Ae sila deardie sEE e
WA AN S SR ?
(1) E.H.EH.3E. 5% (2) ®-Infem I
(3) VT #% 3% fem (4) Hgo o= 3w e
Which of the following public sector banks has planned to give renewed thrust to
rural housing under its ‘Gram Nivas’ scheme ?
(1) LC.LC.I. Bank (2) Co-operative Bank
(3) State Bank of India (4) Central Bank of India
74, WG GGRA e e = IR .
(1) TEgdr (2) SWgYdr
(3) deayH (4) TEIGYE
The Contingency Fund of India is at the disposal of the following.
(1) President (2) Vice-President
(3) Prime Minister {4) Council of Ministers
75. % WERK kT UH TSI Woeidsl RO Fde el HfuE yuona e ?
(1) 3EH (2) W= &
(3) Hudt (4) faml ==
Which of the following forms of tax does the State Government get in maximum
portion from the Central Government ?
(1) Excise duty (2) Income tax
(3) Wealth tax (4) Sales tax
76. RO TETIR WOd US4 G@ERAh ARG H4€ees wigen ?

(1) 7By (2) 9=y e
(3) WD (4) T ¥eY

Which one of the following State Governments in India introduced zero-base-budget
for the first time ?
(1) Maharashtra (2) West Bengal

(3) Kerala (4) Madhya Pradesh
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77,

20 A

YR G AR a7 wiEedieg Fell .

(1) 2iee g (2) ohe o wfie

(3) wHSf 3uHT GfFct (4) HoIHIIA wft
Government expenditure is checked by .

(1) Estimates Committee (2) Public Audit Committee

(3) Public Programme Committee (4) Evaluation Committee

78.

THfoRs JHvT fosrd wEwmA RO QEET Hen ?

(1) T FER (2) forer o
(3) WM Ui (4) %% WER
Who promotes Integrated Rural Development Programme ?
(1) State Government (2) Zilla Parishad

(3) Municipal Corporation (4) Central Government

79.

WG WERA STREEd [Eais Hvn fFum a@ o ?

(1) T T quH TR IS TIET Hhel S

(2) e fafvy auida TER= el @9 g gt @) TquT A feden e,
(3) SiEeTE § T eI SIS I,

(4) SESIEEN TEHI AP @i @9 9 Wiwi At Al fGoe e,

Which of the following statements is true for the budget of the Government of
India ?

(1) The budget is presented in the Parliament after every two years.

(2) The budget gives complete picture of the estimated receipts and expenditure of
the government.

(3) The budget is always a surplus budget.

(4) The budget gives the picture of the receipts and expenditure of the government
of the previous year.

80.

wEsHE SE-gid /@ Ead Wi a9l el Fid.

1) ¥ (2) TEYt

(3) T (4) faa-h

The Public Accounts Committee submits its report to the following authority.
(1) Parliament (2) President

(3) Prime Minister (4) Finance Minister
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81, e YRAMEA FHUT Al g E R 7

(1) e (2) @ (3)  3THTET (4) =

At present which of India’s Five Year Plans is in existence ?

(1) Ninth (2) Tenth (3) Eleventh (4) Twelfth
82. YRATEAT UHOT IcqAld IR SRR FHIT

(1) ¥R 3R (2) WA AR

(3) AR IR (4) A B TR

In India’s total income the proportion of agricultural income is

(1) Increasing (2) Decreasing

(3) Equal (4) None of these
83, UTed] UgdIi® Aol TECiEl W HOTr g ?

(1) SWeTE ¥t (2) 3ifgs Usemd

(3) 3IUA FHARY (4) TG geE

What was the keyword of the Fifth Five Year Plan ?

(1) Speedy progress (2) More employment

(3) Equal distribution of income (4) Removal of poverty
84, RN foce wede AN qea Tefa a9 e,

(1) 1970 (2) 1954 (3) 1974 (4) 1951

District Level Planning started in Maharashtra from the following year.

(1) 1970 (2) 1954 (3) 1974 (4) 1951
85. TEEA YHaItE qeMa SHEAAl fAaona s dF aE e gl 9w :

(31) vt A fowe (3) TEEH 9 THEB

(%) I () WIS Fan

(1) 3,9, & (2 & & (3) A, & T 4) 9, A, T

In the resource allocation of Tenth Five Year Plan high priority has been given to
three areas. These are

(a) Agriculture and Rural Development {b) Transport and Communications
(¢) Energy {(d) Social Services

(1) a,b,c (2) b,cd (3) a,cd (4) b,a,d
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86.

22 A
FIo FRUTR e aredrT ?
(1) e =K (2) TG B
(3) WTUH T WA W (4) Tt =
By which reason do prices increase ?
(1) Indirect tax (2) Direct tax
(3) Indirect & direct tax (4) None of these

87.

Tefais fhAdad@ Fo Th &R T0ET ?

(1) T spdsRon

(2) wFHEA €

(3) TG e

(4) WIS GE@ ae

Which one of the following reasons does not apply to the price-rise ?
(1) Deficit financing

(2) Increase in population

(3) Increasing unemployment

(4) Increase in administrative expenditure

88.

SaREsidier AT g EoT ST

89.

(1) © (2) 10 (3) 100 (4) 1000
The index number in the base year is always in the following manner.

(1) 0o (2) 10~ (8) 100 (4) 1000
are i el S &1 | ?

1) T ¥ (2) HR TR

(3) TN HARE (4) WEER fEA0T He e

Who works as a controller of prices ?

(1) Reserve Bank (2) Central Government

(3) Agricultural Ministry (4) Price Control Board

90.

o R e SO § Siviear deEis Qs 99 JYUE WEN & e 3EE g ?
(1) e (2) F= (3) JEA (4) dfeem

Which Five Year Plan for the first time had declared the objective to combat
inflationary pressure ?

(1) Seventh (2) Ninth (3) Second (4) First
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91. Wolerds gO=greaT H3ell AT 7Y IMY TEguied 3T IO Woit widl a2
O fo== (2) fawme (3) fawe (4) feffsra
Which of the following varieties of Gram is tolerant to wilt and suitable for late sown
condition ?
(1) Vijay (2) Vishal (3) Virat (4) Digvijay
92, I VW Ul WrES WA gt FuaEl 2 IR 39qH IR,
() 9@l AW (2) U AR (e @)
(3) UseH (4) <=L
Under water stagnated water conditions in rice fields, the suitable implement for
puddling is a .
(1) M.B. Plough (2) Disc Plough
(3) Puddler (4) Trampler
93, weUY U, I AT HEIETd offdd 3.
(L = (2) S
(3) S (4) Y=
Among the different pulses, productivity of is more in Maharashtra.
(1) Red gram (2) Black gram
(3) Horse gram {(4) Field bean
94, [ogny 59 A, [da] T foeme fad oo 9o yHoT oEd ?
() 307 35% (2) 357 38% (3) 251 30% (4) 45T 50%
What is the oil content in Sesamum indicum L. ?
(1) 30to35% (2) 35to38% (3) 25 to 30% (4) 45 to 50%
95. RN, fSeaa IUEeE & qaitas TR,
(1) ¥Ew (2) Wi (3) FER (4 W
In Maharashtra, district has the highest area under sugarcane.
(1) Satara (2) Sangli (3) Solapur (4) Kolhapur
96. @Y7 T A YO IEN FAH A HEA feiar wewie wre g
(1 gs ARl (@) EE R (3) fosr wmedt (4) gl A
Under late sown conditions Kharif Jowar is more infested with .
(1) Shoot fly (2) Stem borer (3) Midge fly (4) White fly
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97.

24 A
frarg gl wEEE SearE @Etdadsl SO 99 SHAde gl SIS e a8d 2
(1) =EH o= (2) rERIHeY
(3) A sfh (4) a0 94

While scheduling irrigation, which instrument can be used for measuring soil moisture
content ?

(1) Neutron probe (2} Tensiometer
(8) Gypsum block (4) All above
98. TE HW & A, quAE WS 276,
(1) 175 (2) 175 (3) 275 (4) 375
Water requirement of Suru Sugarcane is _ ha. cm.
(1) 75 (2) 175 (3y 275 (4) 375
99. fersel it firede faee a9 TR,
(1) - (2) FER (3) U (4) TR
division has the highest total net irrigated area.
(1) Nashik (2) Kolhapur (3) Pune (4) Nagpur
100. Y TeATA BRI QAT R ATET FIOTHSHRHIAT Fiafad .
(1) 1% (2) T (3) WuAm, (4) wIHEE
Seepage control from farm pod can be controlled effectively by using
(1) Sand (2) Sikt (3) PM.A. (4) _Bentonite
101. o =irean adEt enftr fasrarand o gar ;W A yEr 3T,
{1} 50:25:25 (2) 40 :20:40
(3) 30:30:40 (4) 30:40:30

For better growth and development of a crop the proportion of soil : air : water should
be .
{1) b50:25:25 (2) 4020 .40

{3) 30:30:40 (4) 30:40:30

102. TENY S § T AN (1999) TsTr=l FA1 {997 e @@ 8. 3awel
3.
1) 100 (2) 75 (3) 105 (4) 126
The Maharashtra Irrigation and Water Commission (1999) has estimated irrigation
potential of the State upto lakh ha.
(1) 100 2y 75 (3) 1056 (4) 126
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103. VST AT HUC A AHg IR ? ,
(1) SHEATI (2) FHA (3) =i% amMA (4) MU

Which breed of Goat is famous for meat purpose ?
(1) Jamnapari (2) Saanen (3) Black Bengal (4) Angora
104, 7@ g O fees g
1) fEwifE () TR (3) & (4) LA
is responsible for yellow colour of milk.
(1) Riboflavin (2) Lactose (3) Niacin (4) Carotene
105. TS faafean SeaeAEE! TS TATTINET FEH YA St e 3R
(n 1 (2) 2 3 3 4) 5
For production of frozen semen, there are laboratories in the State under
A.l. programme.
1 1 (2) 2 3) 3 (4) 5
106, ST §e (M) YETUaTE IRh GeleHe Hard s T IR,
(1) T (2) I
(3) T (g2 M) 4 @R
The high degree of salt tolerance is observed in fruit tree.
(1) Sapota (2) Guava
(3) Date palm (4) Ber
107. ey F Sy g s o,
(1) e (2) = (3) s (4) foaares
is the richest source of vitamin ‘C’.
(1) Aonla (2) Ber (3) Grape (4) Custard apple

108. T wid=w (Frg Aqcedn) sareqr sufaa /g 9.
(1) TS (2) TR (3) fay (4) T

Name the mango variety which does not have seed/stone.
(1) Rajapuri (2) Mankur (3) Sindhu (4) Ratna
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109. @eedsl S San s faid 9 s 2

(1) HTE (BgH) 2) =l
(3) gy (4) fiem
Which of the following varieties of mango is suitable for export ?
(1) Alphonso (2) Payari
(3) Totapuri (4) Neelam
110. WERIPT @i ST 9el g% F.
(1) 1981 (2) 1982 (3) 1983 (4) 1984
In Maharashtra, Social Forestry was started in the year __ .
(1) 1981 (2) 1982 (3} 1983 (4) 1984
111. WERIY U9 9 3 2003 THR TS THUT I8 SUred] THUT FHared]
TFh AR
(1) 15 (2) 16 3y 17 (4) 08

As per Maharastra State Forest Report 2003, the total forest area of the State is
% of the country’s total forest area.

(1) 15 (2) 16 3 17 (4) 08
112. TR BT G s Ted g7 ?
(1) w8 wREl (2) T s
(3) IR (4) Ve deTH
Which of the following is not a component of Social Forestry ?
(1) Farm Forestry (2) Mixed Forestry
(3) Agro Forestry (4) Shelter Belts
113 O GEETURUTYY JeeATeAl destell L@,
1 W (2) weel (3) e (4) faenfyar
fish generally stays at the bottom of the tank.
(1) Rohu (2) Catla (3) Mrigal (4) Tilapia
114. TeNETE G SRrel afNd Aodied WAl o Wigs IF Iae Sfafed
FOIE A TR,
(1) 63 (2) 52 (3) 41 (4) 10-2
The potential of marine fish production per year in Maharashtra has been estimated
at lakh M.T.
(1) 63 (2) 52 (3) 41 (4) 10-2
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115. T W WES 3TgA A T U g &l @A S,
(1) difet (2) e (3) TW (4) ey
fish is a heavy feeder and feeds on smali fishes and prawns.
(1) Bombay duck (2} Haid (3) Surmai {(4) Bangada

116. TP FH " 9 (RKVY) 8 &0 e, 89 .
(1) 2001 2) 2003 (3) 2007 (4) 2005

Rashtriya Krishi Vikas Yojana was launched during .

(1) 2001 (2) 2003 (3) 2007 (4) 2005
117. fawia ae=aEs R T AHT .

(1 1 (2) 5 3) 10 (4) 25

Marginal farmer has land holding upto ha.

(1) 1 (2) 5 3) 10 (4) 25
118, e Sl aNfardt TR FUAE A,

1y 1-2 (2) 3-5 3 6-17 (4) 10-12

Medium term loan is sanctioned for years.

1 1-2 (2) 3-5 3y 6-7 4) 10-12

119. HE S fhAaa S freraradt geliods S SU e ?
(1) ¥ Yaar anfr | & (2) e TSR YW WY
(3) AT A YT FHOT (4) IR FAE AE
Which of the following measures is taken for obtaining higher prices in the market ?

(1) Grading and good packing of produce (2) To search good market
(3) Good packing of produce (4) None of the above

120. IAHTHY/FE IAEHET aSR G T FaE e T waffue fgo s 2
(1) 20 TFH (2) 30 T&F (3) 50 THH (4) 60 THH

While formulating marketing committee, how much percent representation is given
to farmers/agricultural producers ?

(1) 20% (2) 30% (3) 50% (4) 60%
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121, FUE 29 Wlg oUW, AR g faret e 2008 9 fasrd ot ?

(1) fe= faeamg (2) T faemy
(3) U e (4) fomn e
Wheo was the winner of U.S. Open (Tennis) Women Singles Championship of 2008 ?
(1) Venus Williams (2) Serena Williams
(3) Laura Robson (4) Lisa Raymond
122, ‘WA it waar wdwgw QA wivear e Higem ?
(1) 9Rd (2) AUS (3) uifasa (4) FTART
Which of the following countries first presented the propcsal for the formation of
SAARC ?
(1) India (2) Nepal (3) Pakistan (4) Bangladesh
123. WISURE TSHAR 8 HIVE Weareh Hafud atRd 7
1) FE 2 @@ L3 TEES (4) &
With which game is Bhausaheb Padsalgikar associated ?
(1) Wrestling (2) Kho Kho (3) Chess (4) Hockey
124, SR ot oAy fmHae smea ?
() 12 (2) 15
(3) 18 (4) T BOTE A
How many International Airports are there in India ?
(1) 12 (2) 15
(3) 18 {4) None of these
125. 7 feaeht ‘smn fe’ wregen .
(1) 16 7H @ 16 i (3) 16W (4) 16 A
‘Handicapped Day’ is observed on .
(1) 16" March (2) 16* April (3) 16" May (4) 16™ June

126. TgTe~=Al ‘Goyd S fagrd waled ~aedH fiven geeard sfaated her 2
(1) TieETy e (2) HIEHG W G
(3) el few @een (4) =T WER G
The Supreme Court of India enunciated the doctrine of ‘Basic Structure’ of the
Constitution in which judgement ?
(1) Golaknath Case (2) Keshavananda Bharati Case
{3) Minerva Mills Case (4) Judges Transfer Case
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127. A fag w41 TEam d@E A ARG ?

(1) IR T (2) 2 IR

3y Wy fEy (4) fefaw Har
Who is the author of ‘Romancing with Life’ ?

(1) Shashi Tharoor (2) Dev Anand
(3) Madhu Kishwar (4) Dilip Kumar

IZS.WZ0.0QWWWWWWWWWW?

(1) Y=AEW (2) UHUER (3) IS (4) YEmEA

How many women candidates got elected in the Lok Sabha general election held in

2009 ?

(1) Seventy Five (2) Fifty Nine (3) Sixty Three (4) Fifty Five
129, fEeH HEed 23 T 2003 @ YR QA @R A &eT- 2020 gRIRAE

seferaee W e e e Sea T TR e

(1) @1 Tz g (2) S TR

(3) o UMHEER T (4) &t q. fadam

Planning Commission released India Vision — 2020 on 23 January 2003, presenting
pre-assessment of progress of Indian Economy for the next two decades. This document
was prepared by .

(1) Dr. Narendra Jadhav (2) Dr. Bhalchandra Munagekar

(3) Shri Shamprasad Gupta (4} Shri P. Chidambaram

130. SfagHr TR GHAOE B TR ST HOUHgERiER SMd FUA e ?
(1) 444t (2) 418 (3) 7edt (4) 428t

By which amendment has the word ‘Secular’ been included in the Preamble of the
Constitution ?

(1) 44th @) 41 3) 7eth (4) 42™

131, YRATAE Ufgedl SHNVEER 919 F1E S 26 6 2009 T Iwffam @l 7
(1) 3MA.TA.TH. fasid (2) HE.TIUH. 3ET
(3 e 70 (4) =g

What is the name of India’s first Nuclear Submarine, which was launched on
26 July 2009 ?

(1) INS VIKRANT (2) INS ARIHANT
(3) Queen Mary (4) BrahMos
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182. §9 2009 ¥ TaH.H, f&ava 20 : 20 G FUTET S VAR S ?
(1) afor Hffe (2) @
(3) ¥E (4) o 3few
In which country was the ICC World Twenty : 20 Cricket Tournament for 2009
held ?
(1) South Africa (2) India
(3) England {(4) West Indies
133. ST W WeaTd g sifvdeaien e fawfad Soe A 9 @Rl gu e
| #F ?
1) wH 2) farger (3) =T (4) A
A Bangalore based group of seven professors and engineers have developed “simple
and in-expensive mobile computer”. What is its name ?
(1) Param (2) Simputer (3) Macintosh {4) Zenon
134. §7 2009 WA faell Tsa/Fxenfad v geiT e 2 T s SR 2
(1) 30 (2) 32 (3) 34 (4) 35
How many States/Union Territories have achieved the goal of leprosy elimination upto
the year 2009 ?
(1) 30 (2) 32 (3) 34 (4) 35
185, 2009 1 TENIY YU [EER Geleidd! R i sl ?
(1) = foma (2) Heira
(3) Hem (4) 3T FR
‘Maharashtra Bhushan’ Award for 2009 was given to
(1) Upendra Limaye (2) Sulochana
(3) Sandhya (4) Asha Kale
136, Femel weNy faurad feadr s ?
(1) 104 (2) 119 (3) ot (4) 1241
The present Vidhan Sabha (Legislative Assembly) of Maharashtra is the
(1) 10t @ 1uth 3) 9P (4) 12
137. ot 90 Sl s 9 o oA
(1) 453 (2) 404 (3) 429 (4) 443
Mr. Barack Obama isthe _  President of U.S.A.
1) 45t @) 40t (3) 42nd (4) 44
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138. ST Hald S FEA IcHeiA FOT IfFear a gE=aT SHAfwET TFSIE,
(1) 9 9 9Nd (2) I 7 W (FTHT)
(3) W9 F gAEeE fHew (4) -9E g 94

Name the pair of countries which are the first and second most polluters regarding
carbon emission.

(1) China and India {(2) China and U.S.A.

(3) France and U.K. (4) Japan and China
139, Yohl 3MSAMN B Wieledshl SV Wearel dwifee 3 7

(1 ffeads (2 29w fm (3) IS (4) Fefhed

Mr. Pankaj Advani is related to the game of .

(1) Billiards (2) Table Tennis {3) Chess (4) Badminton
140, A Tk THE THRAET SR (2009) FAT 0T Al

(1) 3150 ¥ (2) T T

(3) WA TH (4) fafas am=

Lokmanya Tilak Award for National Journalism (2009) was given to

(1)  Arun Shourie ; (2) Shekhar Gupta

(3) N. Ram (4) Nikhil Wagale

141, SAETE AGHAT § FAKR A1 THT THAER HEL FOM TEIEde g S

For ?
(1) €A TEHR (2) FEE FER
(3) TERA gd (4) T

Name the famous drama personality who introduced folk art forms and artists from
Chhattisgarh to the National Stage.

(1) Badal Sarkar (2) Habib Tanvir
(3) Satyadeo Dube (4) Shambhu Mitra

142. 2009 § T TH OGS SAET 2008 FEG BUH GRR &l e, 9ng gty faaer,
(1) T a3 <A (2) dre| e
(3) Sfregt mwaa (4) e R

The year 2009 was observed as 200" birth anniversary of a world famous personality.
Choose the correct option.

(1) Sir Isaac Newton (2) Charles Darwin
(3) Oliver Cromwell (4} Napoleon Bonaparte
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143, §HSTAY THFWE AT 2009 ¥ WERTER Ade TRAETE 3T 89 wremielat e,
T ey e 9iY R, A gty faen
(1) AT - 3&8Ed (2) IF. - A
(3) W9 - WA (4) T - Eee
Venkatraman Ramkrishnan shared the Nobel Prize for Chemistry (2009) with two
other scientists. They are from . Choose the correct pair.
(1) U.S.A. — Israel (2) UK. - Germany
(3) France — Spain (4) Sweden — Italy
144. TEF 70T ISR & FITT Fe ofma el ?
(1) gar 2006  (2) 9™ 2007 (3) T 2008 (4) TeE 2005
When did the National Rural Employment Guarantee Act come into force ?
(1) February 2006 (2) March 2007 (3) April 2008 (4) February 2005
145, 9T AlwHuea ufge Aieen e H0 Fed 2
(1) &t 910 F9R (2) Hidt guaT =S
(3) SiHdt w91 T (4) St fren fefaa
Who became the first woman Speaker of the Lok Sabha of India ?
(1) Smt. Meira Kumar (2) Smt. Sushma Swaraj
(3) Smt. Prabha Rao (4) Smt. Sheila Dixit
146. YRAM AEE, FER AT TEME IR [TESIaATTE! Sl Su Fiad $ hel ?
() ZWET  (2) P4 (3) TEmE (4) er
With which country did India sign a deal to revive ammunition production in Nalanda,
Bihar ?
(1) U.S.A. (2) Kuwait (3) Israel (4) Russia
147, fHT (FIFA) a1 AR T TR,
(1) @R (2) TfEe oo
(3) W& (4) THE AT
FIFA is related to the field of .
(1) Banking (2) Information Technology
(3) Sports (4) Social Service
148, T 2008 W& ‘URG & [UEHUA FUH MG 0T I 7
(» 9 19 3w (2) 4. famem SR
(3) W i oA (4) Wi dgaa
Who was honoured with ‘Bharat Ratna’ Award in 2008 ?
(1) Pt. Ravi Shankar (2) Pt. Bhimsen Joshi
(3) Ustad Zakir Hussain (4) Sachin Tendulkar
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149. T 2009 Hed 1841 AP AGfE g dIve 9 Sived TR WEvaid e ?
(1) e (2) qo (3) fazw (4) Hicwhren
Where was the 18th International Engineering and Technology Fair held in 2009 ?
(1) Bengaluru (2) Pune (3) Trivandrum (4) Kolkata

150. FHUET Yo WRA 5 —~ 2009 HIN1 SHqUATCN SR GeRere rei=n I | it
I ?

(1) faeh SR Fue (2) ST AT gEeAT

(3) WEE dufsa ufivg (4) TF-3mfee emaTg wWeed

Which organization has declared Swine Flu - 2009 HIN1 Influenza — as a global
pandemic ?

(1) World Health Organization (2) International Health Organization
(8) Medical Council of India (4) Pan American Health Organization

151. T Hidfas 9m™d 573 =1 314 ‘bring cold water’ 3HI Bl 342 =1 Y ‘water is good’
3@ @Al d ‘bright good boy TSI 126 W Hhd AR oL, ‘boy is bright’ Wl
TIeAds! S G T 2
(1) o671 (2) 475 (3) 641 (4) 376
In coding language 573 means ‘bring cold water’, 342 means ‘water is good’ and 126
means ‘bright good boy’, then which number will be used for ‘boy is bright’ ?

(1) 671 (2) 475 (3) 641 (4) 376

152, W39 fagren () Srel e wEE

8§:32:12:7
1) 44 (2) 58 3 72 4y 71
Select correct option for ¥
8:32:12:7
(1) 44 (2) 58 (3) 72 4 71
153. SR PUBLIC fafgaiar DI19U9 379 fafeq 1§ T SERVICE 4 fofg ?

(1) SERVICE (2) ECIVRES (3) dAOIViAHZ (4) 24AVIOHA

If PUBLIC is written as OLIHUY then SERVICE is written as
(1) SERVICE (2) ECIVRES (3) HIIVHd2 (4) 2dAVIDH
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154. SK CAT = 24, DOG = 26, T ‘HORSE’ Wil SioTal 3i% 3e ?
(1) 56 (2) 65 (3 64 (4) 66
If CAT = 24, DOG = 26, then which number will be indicated by ‘HORSE’ ?
(1) 56 (2) 65 (3) 64 (4) 66
155. TH Widfos 9od BRIGHTER' & T8 ‘CSKHIUGS' 3/ faflel o ‘FIGHTER' & g
Fa1 fergan ?
(1) GKHIUGS (2) GJHIUFS (3) GJKHUIG (4) GJHIUFK
In coding language ‘BRIGHTER’ is written as ‘CSKHIUGS’, then how will the word
‘FIGHTER’ be written ?
(1) GKHIUGS (2) GJHIUFS (3) GJKHUIG (4) GJHIUFK
156, WA Hhar s &6 ‘CONCEPT ®i8! Hivld Hohd Idiet o Gpm 2
A B C D E ..
A * o B &
(1) ¢poBAa 2) o@PpadTA
3) a@daPpa 4) aoBPoBAD
By observing the following codes, find out which code will be used for the word
‘CONCEPT ?
A B C D E..
A * o B @
1) efPBoadAa (2 aPBPoD I A
B cdBufPu (4) 0dBuTAD
157. §81 AUR A, 9, &%, €, ¥ A0 § & TH WA 39 IRA. & A7 € § T@GD IR

¥ =7 SN[ A, T B 3 AT TAB IW Q. I F F TG WA IR, W AeAN il
HIUT I IR 7

1) =3 2 T

(3) @ o & (4) A FHOEE T

Six persons A, B, C, D, E and F are standing in a row. C and D are standing close
to each other alongside E. B is standing besides A only. A is fourth from F. Who is
standing on the extremes ?

(1) Aand F {2) Band D

(3) Band F (4) None of the above
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158. T@id S@al Ui &Y :

L O 8 88T
M S? @) {7 3) % @ _MF

Complete the following series :

L O &8 88T
M S? @ §l7 3) % @) M—

159, WA TS el 39 a7

(1) 16 (2) 14 (3) 15 (4) 13

How many rectangles are contained in the adjacent figure ?

1) 16 (2) 14 (3) 15 (4) 13
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160. ¥¥9 3Fdl :
/\ ()2
I P
O I D\
(1) (2) (3) (4)

Question Figure :

/\ )9

Answer Figure :

DN DD\

(1) (2) (3) (4)

161.%‘.’%@@%%%?

>§><

(1) 30 (2) 33 (3) 36 (4) 26

Which number will be appear at ‘@’ ?

5<><

(1) 30 (2) 33 (3) 36 (4) 26
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162, T3 H@en Ol &q ¢
SSM,T,W,___ ,FS.
1) A 2y T (3) S (4) E
Complete the following series :
SM,T, W, ,FS.
(L A 2) T 3) 5 4) E

WY . 163 § 166 WSt :
el feoe ddhdmEn T FU. TEEd [AeRaedl e Siefas 9 qaEgT et
A B C D E
O A O # %

For Questions No. 163 to 166 :

Obeserve the following code carefully and select the proper option of code for given
word :

A B C D E
O A& O # %

163. MUTINY =7

(1) 1Ok ##% 2 OO #AO

@) OO* ¥ # 4 O*0#A0
164. TABLE =?

1 A#KXANO 2 OA A K

3 O## AN KX 4y OOAO*
165. AUTOCAD = ?

1 OO0 %[1# 20 OXxAQ[#0O

@ OxA#0O00% 4 OO%4[00O#
166. CLOTH = ?

1 OA#¥%A @ [OdAO¥#

3) OA¥ 4[] @ OO4%0O
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167. SU WATCHING = 30, WORKING = 30, COMING = 10, COACHING = 10, ™

MAKING = ?

(1) 20 (2) 30 (3) 10 (4) 32

If WATCHING = 30, WORKING = 30, COMING = 10, COACHING = 10, then
MAKING = 7

(1) 20 (2) 30 (3) 10 (4) 32

168. SU SG =12, JK=-19 QE=12, @ OX=7?

1 9 2 -9 (3) 8 4) -8
If SG=12, JK=-1 and QE =12, then 0X =7
(1) 9 (2) -9 (3) 8 (4) -8

169. SX B =10, AC =20, BED =55, ™ PPF =?

(1) 180 (2) 190 (3) 196 (4) 550
If B=10, AC = 20, BED =55, then PPF =?
(1) 180 (2) 190 (3) 196 (4) 550

170, ST STATEMENT = 384857, CEMENT = 157, GARMENT == 2467, U 8647 = ?

(1) STARMENT (2) TRAMENT

(3) TREATMENT (4) TRAEMENT

If STATEMENT = 384857, CEMENT = 157, GARMENT = 2467, then 8647 = ?
(1) STARMENT (2) TRAMENT

(3) TREATMENT (4) TRAEMENT

171. S ‘MUMBAT & & ‘KCDOWOQ’ 3|l faidiar @ ‘SURAT &1 =g &1 forgrar ?

(1) UBSVT (2) UWTCV (3) VCTWU (4) TVSBU
If ‘ MUMBAL is written as ‘KCDOWOQO’, then how will you write ‘SURAT" ?
(1) UBSVT (2) UWTCV (3) VvCTwWU (4) TVSBU

172. ST A=1,B=2,C=3, .. Y%, W ‘GOODWILL & & Fd fagmr ?
(1) 7-15-15-4-23-9-12-12 (2) 7-15-15-23-4-9-12-12
8) 7-15-4-15-9-12-12-4 (4) 7-15-15-4-23-12-9-12
If A=1, B=2, C =3, .. in this order, how will you write ‘GOODWILL' ?
(1) 7-15-15-4-23-9-12-12 (2) 7-15-15-23-4-9-12-12
3 7-15-4-15-9-12-12-4 4) 7-15-15-4-23-12-9-12
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173. GEd /R AfThd FE SR Mesel! 3Med, MBelel K A FAH IO 9oy FraeT.
ZXP_XZ_XPPXZZX_PX_
(1) ZPZP (2) PZPX (3) PZPZ (4) PZZP
Some letters are missing in a series. Select proper letters from the following options.
ZXP_X7Z _XPPXZZX PX_
(1) ZPZP (2) PZPX (3) PZPZ (4) PZZP

174, TEA SidHITchd H1E 37 Ml 3TRd M 3% Araha WU g e,
_101_1011_ _11101
(1 1011 (2) 1111 (3) 1010 (4) 1110
Complete the given series of numbers by choosing the correct alternative.
~101_1011_ _11101
(1) 1011 (2) 1111 (3) 1010 ‘ (4) 1110

175, Mo o T S| 99ig fHaer.
OA_#*O_AA¥%0O0AAN_ _

1) AO¥%[] 2 A0Q0O 3) AA¥[] 4 *AO0

Select symbols from the given options to complete the series.

OA_*O_AAa¥0O0AA_ _

1 AO%L] @ A000 3 AL¥)U 4) *ALO

176, T HFNTha FE 3% MBAS TRA. Mo 3% AT FAW U 72y fraer,
_ _989 9_98_898
(1) 98889 (2) 88998 (3) 98989 (4) 89898
Complete the given series of numbers by choosing the correct alternative.
_ _989_9_98_898
(1) 98889 (2) 88998 (3) 98989 (4) 89898
BTl SIS SN / SPACE FOR ROUGH WORK

P.T.O.


Admin
Line

Admin
Line

Admin
Line

Admin
Line


KNM

40 A

177. o seRIe #Hiedr,

(1) ZBX (2) XDV (3) VET (4) THR
Find the odd one out.
(1) ZBX (2) XDV (3) VET (4) THR

178.

fodmg s 3.
(1) BEH (2) HEN (3) TWN (4) SPM

Find the odd one out.
(1) BEH (2) HEKN (3) TWN (4) SPM

179.

. goig, famdf, are
WX, 99 Y 9 €9 2 § s gerg, faodl 3 axwe dF W@ .
@ ware 3 famd R 7w famdf aew snRa.

& @ § Ao

factear duraEl Iucsy qgtawd 4 SfafHas ®9-3TEdE (o w4

1) A (2) « 3) = 4) €

Set : Players, Students, Musicians

Set X, Set Y and Set Z are three sets of Players, Students and Musicians respectively.
Some Players are Students and some Students are Musicians.

& ©® § QD

Select the proper Venn-diagram for the given set.
(1) A (2) B 3) C (4) D
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180, RF-3Tpd faleor F&a IR o

EEET e
20 28
A FAEE aRA AR § WG Werd g fomndf fmd 2

(1) 42 (2) 28 (3) 07 (4) 60

Observe the Venn-diagram and answer :
Set A SetB Set C

() =

How many students are players and musicians ?
(1) 42 (2) 28 (3) 07 (4) 60

181. ®A-3gdd Al 67 IR o

9 A =69
%. §4 B = faanfeq Tew

U9 C = YIUH
TFOT [T fR [EY SEUM FUR STRA 2
(1) 20 (2) 11 (3) 05 (4) 28

Observe the Venn-diagram and answer :

Set A= Men
n' Set B = Married men

Set C = Smokers

How many men are smokers out of total men ?
(1) 20 (2) 11 {3) 05 (4) 28
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e IEITE FHIUIC RA-3THATN 3, F, F, T God MR o I 9 1 S bl
spR ifaom Iy gafg fraer 2

TRIE — hidl, B, W

a0 O

k! g % T

(1) 3 (2 3 & 4) ¥

The list of words given can be denoted by which Venn-diagram i.e. A, B, C, D ?

Words — Cabbage, Methi, Vegetable
© a0 ©°
A B C D

(1) A (2) B 3 C (4) D

183.

AR 6:00 SIS HATCHATT aTad a9l 19T Argan sear arspe fididid faesig s
T AT T S, A T YARER (@9 3HA W A 96 S 9w @ ?
1) 3W (2) <R 3 ) dfmm

In the evening at 6 o’clock when I was in the library the sunlight was coming from

my left side window. If the main door of the library is on the East, then which side
am I facing ?

(1) North (2) South (3) East (4) West

184,

TH ASAR 3201 TH GO 39 2 9 e a1da Tal-qeur s 12 Hiel araa
e, 0T © Higl WA 3ME o R0 US Hel 9% I, WX el fedr @ey 3
R ?

(1 21 (2) 18 (3) 24 (4) 20

In a ground Arun walked from a pole 9 meters towards north-east and Tarun walked
12 meters towards south-west. But Tarun came back 2 meters and Arun came back
one meter. How many meters are they away from each other ?

(1) 21 (2) 18 (3) 24 (4) 20

T SENS! AT / SPACE FOR ROUGH WORK


Admin
Line

Admin
Line


A 43 KNM

Uy %, 185 @ 186 HEL,
For Questions No 185 to 186.
As per the given question change the signs and select the proper option.
185. SR WUN “, % BUN 4, 4 Uasll &, < Tasl 2§ o arwett @
20-4+3x7+2T W FF IgeT ?
(1) 42 (2) 35 (3) 15 (4) 20

LS I

If ‘" means “*, ‘<’ means ‘+’, put ‘<’ in the place of ‘+’, put ‘+" at ‘", By using these

signs, what is the answer of 20 -4 + 3 x 7+ 27

(1) 42 (2 35 (3) 15 (4) 20
186. S WA =S =, IR TN <, TS WIS 50 9 aeEE US4 T @R e
IH & 7
4x2+3-4+1-3
(1) 4 (2) 12 (3) 36 (4) 18

[ 7

If division means ~, multiplication means ‘=, addition means <’ and subtraction

means ‘+’, then what is the answer of
4x2+3-4+-1-3
(1) 4 (2) 12 {(3) 36 (4) 18

AT ; W ., 187 T 191 1 IO @ielel uifgl F% .
UH It o femreatar wuel, $meh, e 9 &) a1 fawaier e emem ewH
A, B3 D& Titrg 9 $eit & fawarg sdivl o,
B,Ed C? 3usl o qudl =1 fawgra I«ivl 3.
D,C 9 E 2 &< a ot favaa sl anga.
A, DT E? S0 7 ot & fawama <ol anga.

Information : For question No. 187 to 191.

In a school the result of five students was declared for the subjects Marathi, English,
Maths and Hindi.

A, B and D passed in Maths and English.
B, E and C passed in English and Marathi.
D, C and E passed in Hindi and Marathi.
A, D and E passed in English and Hindi.
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187. TWETIE Hiv7 g7 fawar <ol aR 2

(1) %% B,E, C (2) % A, D, C
(3 ®® ATD (4) s
Who have been passed in English ?
(1) Only B,E, C (2) OnlyA, D, C
(3) OnlyAandD (4) Al
188, 7T 3wivl fqendf v e TrEfe smed 2
(1) AB,C (2) B,C,D (3) A B, D 4) AE,C
Who have been passed in Maths ?
(1) A B,C (2) B,C,D (3) A BD (4) A E, C
189, T3 fawam Hiv7 vl et e ?
(1 D (2) B (3) A 4) C
Who has been passed in all subjects ?
(1) D (2) B (3) A 4) C
190. "US Il Wy fe st o7 e 7
(1) D (2) B 3) C 4) A
Who has been passed in Marathi, but failed in Hindi ?
(L D (2) B 3 C 4 A
191. C 9 E 98 Fvren fawam sreiel s ?
1 = (2) TS (3) TioTE (4) T
C and E both have failed in which subject ?
(1) Hindi (2) Marathi (3) Maths (4) English

192, TRV d9 GRS g9T=1 Y 3R, 5 9ol WTE 99 IRAT aSieiedl dehrel aaree
o5 I HH TG, AT gET AN 99 55 9¥ 30d W WY NN a9 fEdr ?
(1) 45 99 ) 30 oo (3) 25 99 4) 15 a9

Todays Mahesh’s age is half the age of Sarang. After five years Sarang’s age will be
25 years less than his father. If Sarang’s father’s age is 55 years as on today, then
what is the current age of Mahesh ?

(1) 45 years (2) 30 years (3) 25 years (4) 15 years
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193. Hfe U=Ae TAS Tl 4 §6h q@ Id. SR el 11:00 TSl SUER SEed HS AT
TR JUT AHER 11.00 AT HIUT G2 Ead 2

(1) 11.08 (2) 11:02 (3) 11:30 (4) 11:48

Sachin’s clock goes ahead 4 seconds in every hour. Monday morning at 11:00 a.m. the
clock is set at the proper time. Now what will be the time shown on Saturday morning
at 11:00 am. ?

(1) 11:08 (2) 11:02 (3} 11:30 (4) 11:48

194, X FHA AU AT e,

99 3l :
7
+ + - |+ -
I SF
X =+ |+ =]+ XxX|- X
+ — |+ X |+ =]+ :
(1) (2) (3) (4)
Find out the next figure.
Question Figures :
C?
+ + -+ -
Answer Figures :
X | = - |+ X |- X
+ -+ X |+ -+ =+
(1) (2) (3) (4)
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195. 1 e 2010 T YPHaR fEo@ BT, @ 31 FHAR 2012 A &ivrr feaw 3de 2

(1) GHaR (2) W@ER (3) TR (4) TEER

On 1% January 2010 the day was Friday. Then what will be the day on 315 January
2012 ?

(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

196. T TRie foETa Wy e,
() gorEAl (%) WO (@) A (3) §Uie
1 =+ 2) ¥ (3) =& 4y €
Find the odd man from the group.
(A) Mobile (B) Internet (C) Telephone (D) Computer
(1) A (2) B 3y C 4) D

197. 1500 =41 g =7 %f‘arcﬁ ?
(1) 250 (2) 260 (3) 500 (4) 550

How much is % ofg of 1500 ?

(1) 250 (2) 260 (3) 500 (4) 550

T : fEoiea oS STER WY s, 198, 199 YT 200 FET VYA IWe =
(A, ¥, & fScer W% & 99H 3TR)

'q‘d\ a-ﬁ E
o
y g e
T ="
S <3| el Ay
E i Z Z Z
/ / / .ﬁ\-:l:.-,,
] ém ét‘;}\ %
. Z Z: Z
A C} ED &
fercer
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Directions : Give the answer of the Questions No. 198, 199 and 200 from below

graph.
(Population of the A, B and C district is same)
¥ 1\ Open Telephone
7 / Closed Telephone
W gt
g I
g =14 Waiting List
-43 | —n F.
3
Q?:‘ _
7 %n‘"w /n“- z.{:‘:’:
Z iRt Z et ZN
0 R = e 5 >
A B C X
. District
198, Fatq Friem e fegr Hivr ?
(1 2) ¥ 3 = (4) I a9 @
Which is the most working district ?
1) A (2) B 3y C (4) Don’t know
199. e ‘& & faeg T 93 Tfeada g ey S ?

(1) & Fegadda =1 fawme o T fSeae=n gue IR,

2 ‘o fSogarder =g femd s T Segaren fmee oTR.

(3) T fSeeamdier =] fada srmur=n 2faw ST §HE o7,

@) ‘W fSeara o] 2faene s T feeara famen 79 @it 9w TR,

What is the proportion of telephones in working condition in district ‘A’ and ‘B’

proportionately ?

(1) Double telephones in district ‘A’ in working condition as compared to district ‘B’
proportionately.

(2) Half telephones in district ‘A’ in working condition as compared to district ‘B’.

(3) Equal number of telephones in working condition in both districts.

(4) Three times telephones in district ‘A’ in working condition as compared to

district ‘B’.
200. HE fFegAT T A SfAhE S WG R ?
1) « (2) 9 (3) & (4) & 3qfor &
In which district is number of telephones on waiting list highest ?
(1) A (2) B (3) C (4) Aand B
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LT - (g5 1 = B....)

(8) Wwigfewe fafgq Foew fafte srie s=9 =9 (W6 54) w@.
IR &1 TR FICEL e HH Hhodid o @iyl H0grear 2 el HE, 3 A
WA d AR SHEARER WA W Seledr “wleigel gomear o sfEy
FOgEETe 3HfFE-82” AT TGN AR FWAT IgA § QAN Al FAA TH
FETAT HRETIAT /a1 ¥ U R W der fogw .
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